Level 4 Review - Summer packet

L | bay = 24 Hours | Gallon = 8 pints
13 days 12 hours + 9 days 17 hours 13 gallons 15 pints — 5 gallons 2 pints
Galons | PintsS
days | Hour$s 13 L'
13 e 1 — 5 2
4'q L3 8 gallons 13 pints
22doyS 29 Hoar S ‘ |
lons 1
23 days 5 Hours 9 galion | = et
2. |Length =7 om Length = 5.16 ¢m
Width = 5 ;CM Width = 4 em
x 20:;_?) P=(5-16+4) x 2.
= 2( = qQulex2 "
Perimeter = __ 24 oM Perimeter = |18-32. Cm
A= TIXS 1A= 5-l6X 4
Area = _____§_5__§ e Area = ______ 2064 89Cm
3.
' 132.98 + .
300 +1100 400 32.98 +100 1.32.98

' 132.98" *.100 '

100 + 6023 61273 | 13298
1 »

. 132.98 + 10 ,
9900 —~ 212 8 788 . = 1»0 13.2938
6000 — 550 - LT .8

5! 4350 32,98 + 100
. o 0.3298
4000 — 1150 2 250 —— e
/ 32.98 100 3}2.C| e

L Review / Pq @
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4 Solve ( Ac(l‘cg)subtract/multiplv) (b) (C)
-1/ 43.99+13.8 65.02 = 9 87.05+ 8
+ 13-80 £ B.03 x 8
SR % 6€96.40
585-.48 '
57.79 | 585.18 696.40
(d) () HES
20-11.5 ' 33.109 - 25.13 45.34 — 14.61
.5 lod 5.4 loq L 13
5
2088 3.3, LS Q4
LN —.919 — 14 .« G|
8.5 ’ 20 « 18
e} 15 19
B Compare (> <=) 131 ladies are going for shopping. A
taxi can carry 5 ladies. How many taxis
do they need? 2.4
Moozl < 130 5 5.'5"
, 3
b) |1254.0 > 0.255 - 3(!1
f |
¢ |l610.1 | ~ 6.101 5 .0
d) 3.167[ z 316.7 21 Toxies

Level bfReview  Pg @
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6 Sara has $100. She spends $57.80 on 1 3
groceries and $6.90 on taxes. How On Sunday, 5 of a mall’s shops were
much money is left with her after closed. 12 shops showed open at mall.
she is done with her groceries? How many shops does the mall have?
$ 57.80 Open opm.]bfm Open | Closed
. 0 = 0OpPEh 12. shops
g 66 CEIOJ. ‘ ¢ = closed were open
4k.170 i i
—_— 64 .70 Each Porl— =3
: Total ,_
$ 35.30 Shops = |S shops
7 Paul bought 3 cheap and 2 expensive | Write roman numerals for
mobile phones. The cheap mobile
phone cost $ 11.00 each and an
expensive mobile phone was three 213 e X[ Il
times the cost of the cheap one. What
was his total cost? 89
Cheap phones cost LXXX X
= $ 1Mx 3
| = & 33 39
Expensive. phones coshk XX XIX
= $3a3x2=$66 3
Total XLIX
cask = 5[3 9
8 Circle the smallest fraction How many triangles are there in the
figure
2 | 1 \
b) 6 | L
5 2. 10 Triangles

Pg@
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9 Write in expanded form as fractions
34.098
a) L 4+ 9 +_8
30+ &+ "5 100 looo
6.023 ‘ 3
0 " T S 1
b T S0 -t 1o - . Taen
10 | Solve using a number line
Q) b) c) a)
—2-3=—5 |-547= 2 |-8+7=—] |-7+2=-5
v bt E b @b ¢ % ¥ ¥ ¥ ¥ ¥ 4 BT & i
| S S N A N [ RN D N [N N N S N R B S R R e p
-11-10-9-8-7-6-5-4-3-2-1 0 1 2 3 4 5 6 7 8 9 1011
11
0) b) c)
346 245 108
* 0.03 * 0.04 * 0.05
{0. 3B s B 5.40
12 | Write the corresponding numerals
nine million, five hundred five thousand, nine
O)‘ hundred thirty
9,505, 930
seven hundred nine thousand, four hundred two, ,
b) 709,402

!

ﬁ3C)
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13 | Arrange the decimals in ascending order
X2 . , 5 .07
0) 0.1 2.9 0.60 17 0.04 3.078
o.04 | 0.2 | 0.60 | 2.9 |3.078 | 17
5.06 6.05 56 0.056 65.0 5.6
b)
0.056 | 5.06 5,60 | 6.05 56 65
14 |Complete the sequence RU\&.'- Tens 2 Units PIQCC SLDI"E#
0) ||12 21 34 43 61 16 98 89
Rule = <+ 10
b)ll10s |116 |126 |136 |146 {56 | 66 | 176
15 | Express ’:\I‘g;"ollowing as Fractl\lﬂrss ) (d)
13.89 7.77 7.07 7.007
89 17 IR R IS
13 Too 7 TeYe) 7 loo —7 looo
16 Express:‘:)e following as deci&a;ls ©) r (_d)
3875 3875 3875 - 3815
10 100 10 100
387.5 3%3.75 38.75 3.875

93@

] 5 Anagha Chaliparambil — anaghasmath.com Level 4 Review - Summer packet




17 | Divide up to 2 decimal places Divide up to 2 decimal places
10 - 2- 3 _,o 5 8
4) 40.92 3) 22.74
....4_ \ ;
S 17
o 9 15
i S Dl . W
5= 2.4
=12 -2 4
Q= 10. 23 Q= 7.58
18 An empty 3 liter can is filled with 1 | What is the sum of 45,980 and
liters 250 milliliters of cold water 27,1017
and 700 milliliters of warm water, |
How much space is left in the can?
/
it | m| + ot 1o
eid 11 y £30 “‘: 13, 081
oarh 100 ml|
Total it ! 950 m| _
| liter 50 ml| 78, 081

{ liter = looom|
3 litey — (| liter asoml)

= \liter 50 m|

fy 0
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19 . A television program had an
advertisement for 4 minutes 33
seconds. How long was the
advertisement for in seconds?

Z-|.m‘|.;, 33 SecondS
—(q-xeo + 33) Stconds

N — 240+33
Z.ABC = 120
o]
LABD = 40O 273 Seconds
20 | Of the following numbers in which If 50,005 is divided by 10, what will be
number does the digit 3 have the the quotient?
smallest place value o o volue § 000
s 3547 2600 l0)s50005
— — = 50
o 95732 30 60%
103795 3000 . —S
i kel WSS s
-
: 5473 5000
21 | The sum of the ages of Rohan, Ravi How many quarters can be exchanged

and Raj Kumar is 35 years, If Rohan is | for a total amount of § 3,757 ¢

13 years old and Raj Kumar is 4 years ler S
younger than Rohan, how old is Ravi? $ 2 om o CVLQ‘( ¢

Rohan | Ra} | Rawvi 1454 = 3 cl/qqu-crs
13 \ 13-—'4-\
=13 = q/ \S cvu.o.fl-ers
1349+ 03 = e
27.-+D= Y
R 13 years old \5 Spmfkfs .

@
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22 | Hint : one foot = _{2_ _ inches oneyard=__3 feet
(o) (b)
7 feet 20 inches — 2 feet 2 inches 6 yards 13 feet —2 yards 7 feet
feer Inches " Yyard | feel
7 20 G I 13
SR i’ ? . i =4 I .
cfeet 6 inches 6 ydfdé
23 | Name the following shapes
Ray Pentaqon 0 ctoqon
a sosceles
24 | Mark the times on the clock

Quarter to T

half past 9

fg
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4+ (3%9)+ 3 —O
usi(\j PEMDAS
L+ 273 —0

(S

i
==

13

25 findu‘the g_nknown
Diomekyr = 8 2
2 x Radius ) + 7 = 'l—_?-
Radius Diameter
7 ¥ 4 3
— + — — — = 6
1. 5.6 cm . {14 14 14 Tax
Q) | 11« 2 cm g
b . TN To— 7.08 cm c}16 + 11 B ~ _ B4
13.4 cm 15 15 15 =
%) 268 cm 'S s
126 | If 2024 was a leap year, which year
will be the 4t leap year from 20247
Every 4 Jears is a
leap Yyear
1St '3 202.8
"4 _5 2032, R
34 5 2036 l8o-iuo
D
4y 2040 Le= 60° | LP= yo
27 What is the sum of smallest and the

largest number formed by the digits
0, 8, 5, 3 using all the digits only
once

8 530
358

Larae sk =

Smallesy =
o

Sum 8888

Q,888

| 9 Anagha Chaliparambil - anaghasmath.com
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28

) (b) (<)
7x + 9y 17x + 40y 13a + 12b
+ 10x — 8y |+ 3x — 18y |+ 5a — 66b
T + 1y 20% + 22y I8a +6b
29
A number is choosen at A number is choosen at
09 random from 20 and 40. What random from 0 to 20. What is |
is the probability that it will ._1. the probability that it will be =)
be a mulitple of 37 39 2 | a mulitple of 47 21
2\, 271-, 27,30,33,36, 4,8,!2) l6, 20
A number is choosen at - A number is choosen at
random from 60 and 70. What random from 1 to 10 . What -
is the probability that it an is the probability that it will D= -
Y _6 5 =1
_ ) even number? 1 1 be a factor of 207 10 2
' ||60,62,64,66, 68, 10 h2,4%,5,10
30 | Write down all the factors of -
(Ao 100
{ 12 |3 {45 |6 { 2|45 |lo
60 |30 |20 |15 |12 | 10 |||Io0 |50 |25 | 20"
31 | How many
Edges 17_ Edges 6
Vertices g Vertices L‘_
faces 6 faces Lf"

103 ©
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32 | How many Fill € > =
- Numbér of axis ’
SHape of symmetry 2.42 4 2.48
Square - 11.08 > 1.008
Rhombus 2 6 > 4.90
o 2 12.89 | < 15.9
33 | Write down all the prime numbers What is the largest counting number
between 10 and 50 less than 879 divisible by 57
: 1185
11 13 17 5879
=S, 87
alq 23 29 37 g
4 | 3T -85 815
21 37 4| =
43 4 - s
s = = “ 815
34 | Write two equivalent fractions for | Convert into grams( g)
nswrer wdill Vo) |
a) _3: —3_9 __é_ 1000 milligrams = __1____ grams
4 4O g i
1 3 4000 milligrams = __! grams
b)|5 & . :
) 1o |_5 - 117000 milligrams = __1_____ grams
4‘ ¥
: g ook [l @ s
[ . e . illi = ®
)7 . T 10 .435\‘00 milligrams ____?;__5_-___ grams
d) 3_ 6. 1. 6500 milligrams = __ED_-_§:_ grams
11 32, SR o e
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35

Represe
(a)

nt the following fractions as pi es

(c)

1

2

7//
)7

1
_

//// |

\\\\\

7
201

\\\\‘

36

A |
7, | 72 1 M
Classify as acute, Obtuse or right angled triangles
) c A |b) | - |9 A
7
| 8
3 R ] €
Right angled A| Obtuse angled | Acute on\glcg

37

Classify as scalene,

obtuse or isosc

eles triangles

2. CAN

o—H
-5
C.ml acrm

g™
3cm

YT N

?.crf/x&:z em
(W] :
L 5

2.¢rhn

Scalene A

TIsosceles A

Eq/.tilah:ral-.a

12 An

agha Chaliparambil -
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38 | Find Mode, Range and Median
95, 85, 95, 95, 85, 95, 86, 86, 95
% ~ To
ASCenqu Order Range=___'~___
85, 85, 86, 86,Q5,95,95, 95,95 Median - 35
Mode = _____c__]_é____
Range = 95~85 =10
20, 21, 18, 16, 19, 20, 17, 20, 20
b) Range = 5
16,17, 18, Iql, 20,20, 20, 2| ___;____
Ranac = 2l=16 = 5 Median=_ZO ___
Median = 20 Mode = __ 20
39 | Draw stem.and leaf graph for.
' 83 83 98 | .78 77 99 83 63. | 80
92 90 80 80 96 85 86 .70 87
Stem 7 Leaf °
6 3
7 o, 1,8
8 6,00 4 3,18,3,. 8, G q
9 0, 2 6, 8, 9
40 | Express as a decimal ) :
L9) (b) €
430% 5 % _ 14 %
430. D A4
= 100 |00 |00
=14.30
005 O.14

T |

AD,
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41

State if congruent / similar

(b

>

(a)

7O
C C

i

Congruent - Yes /

Congruent - Yes /

Congruent -/ No

Yes /

Similar - / No

Similar - / No Similar -
42 | Find the perimeter
- () l_b) (9]
e :
x L 3 | a.em - fem
185, . o Pz ¥
-6 8.7 Xt
¥ 2. 6-8
P 56 [t2-0
B 7.4 e | .8
+5-0 e
2hgey =M
23 .4 cm 17 & cim 8.2 em
43 | Order of operations Use PEMDAS
35+ (45+9) = (6x2) |(A-2)+3X6—~8+ 2
=354+5—12, =T74+18 -4
= 4o-12 = 25-4
2.8 21

Ry ()
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44 |1 have 3.notes of $20 each, 6 notes of § | Round off to the hundred’s place
5eachand5notesof$1each How S il B
| many dollars do 1-have-in all? Ly
o 2,345,428 ~ ,
3x¢20 =" %60 2,345, 400
6x$5 = $30
1 23 5 3,980,419 ~
TRl * PERAE 13,980, 400
$ 95 145,083 ~ 145 100
45 The wool from one sheep can be used to | What timeis 5 hour 45 minutes
i after 3:30 pm?
} make 2 Ecoats. How many coats can be '
made from the wool from & sheep? 8% 30 P m
Sheep | Coats + 8 Heur s
1 2'L EX 2'12: &3 30 pr .
mMinukeS
e. 1% =ex25 it
e ey " T BTSSR = 9q:l5 pm
{16 coats q=l5,_pm‘
46 What do | get if | multiply 7 by 12 and If there are one farmer, 8 chicken

then divide the result by 2

(7x12) 8L

I

R4 +2 = 42

l-2.

and 5 cows on a field. How many
feet are there in all on the field?

| farmer = 2 feet
@ chicken = 16 feet
5 cows = 20 feet
Total = . .
38 Feet

Ry
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1 (Bx3323)+(3x333) = (24344 +5+6 =
_g ax(? ) 2X 3XL S X6 +|?

R g-
D = 3% (333+333) AR SERey Y
g = 3x 666 SRy S
G
6 €6 6 :2 = 36
48 What is the sum of the digits in the What number is 20 less than the

number: Thirty thousand five hundred sum of 950 and 8807

Sum(dla'.‘-s) + 880

= 3+ 0+5+0+ & I3 0O

Y — 20
10 1810

49 [12tens + 16 ones = 1 hundred + how 101 X10X {xox1xiox{0] =

many onhes?

foiox [72_]
{2 Tens = 120 Cpmj numbeg>xo=o
{6 Ones = 16
Surm 13¢
= |loo+ 36
36 Ones f 50

50 Alltogether 3 rectangles have how

Alltogether 7 pentagons have how many
sides? '

Pen+a30n has 5 sides

I Pen'fc:gons = t{IAB

35 Sides .

many diagonals?

=

Ever Re_cinn\c_:’le. has
2 d;aSonoIs
3 Rcc{'ang\es = 33X

6 diagonals

Pg (©)
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51
Q) 789,563 + 100 _’ %QSGIB
b) 789.563*100 78C156 3
C) 789.563 + 10 78.‘%563
d) 789.563 * 10 —[8'q5063
F) 789,563 * 1000 78C|5G 3
52 Draw stem and 1e\af graph for °
43 |52 |6 |40 |52 |61 |66 |53 |50
4o |45 |B2 |66 |67 |53 |52 |40 [ 43
Stem | Leaf
H B 6. 6 . 3, 3 .5
5 6o 2 o2 o 2 3,3
‘ 1 7 7 7 J 4
2 | e, 6, 1
Find Mode, Range and Median
-
' Range = ___:_3___2_-__
25 |43 |43 |52 |35 |62
Median = ___lj'_‘a_____
¢l |30 |35 | 42|50 e
- r Moda se o o
Ascendin Ojrdev - by
wa,,(3) 43 " -
o L Pq @
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54 Express as a decimal
389% 73 % 9%
5000% 35% 143% _
50 0.35 1.4-3
55 Divide up to 2 decimal places Divide up to 2 decimal places
4. 26 5.89
5) 21.30 q) 53.01
o M _&5
13 - 8 0
= 108 iy - 1
S5 31
— 30 — 31
o o
e Ll‘t 26 as 5‘ Sq
56 Find the sum of the follwing nubmers
35.12 + 4.52 52— 3.72 5.45 +13.9
\ .
35 .12, o e B a8
39.64 1.48 {9.35

P3 ’
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57 Round off to the hundred’s place Circle the largest fraction
Given number Rounded off , N
| 3 | 1
39,198 | 39,200 9
40,899 | 40, 900 , =
G, 4071 | 6,400 - 2 L.
i1 §o)
5,550 5,600
58 State if congruent / similar
/ 6“‘“ e goim z
N
S | T
8Cvvy
Congruent - Yes / Congruen‘c-/ No | Congruent - Yes /
Similar - Yes / Similar - / No |Similar- Yes /
L_1m|ar es . imilar |.m ar e @
59 Express the following as Fract_iohs
17.3 2.089 2.98 .1{1.7
-3 B 9 as. | Y- L
I [0 2_ 1000 100 10
(4 .
60 Express the following as decimals
145 3 95 . 3094
10 100 | 10 . 100
4.5 0.03 2.5 30.94
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61 Write in expanded form as fractions
6.108
o) | o) 8
SN S " S N - %
6+ io 100 [oleYs)
304.57 £ - :
b =+ L
) 300+ 4 + O 100
62 Write in expanded form as decimals
6.108
a) 6+ 0.1 + 0.00 + 0.008
304_.57 ‘ -
°) 300+ 4 + 0.5+0.07
63
1 gallon = ____% ______ pints 1 gallon = ______1__6 _____ cups
3 gallons 5 pints + 7gallons 13 pints | 7 gallons 30 cups — 5 gallons 7 cups
_&a\lons pPints Gallons ﬁ—E——-C; =
+_1 13 —
loso\\ons. I8 pints 2 ga\lons 23 Cups
{2 gallons 2 pints | 3 Giallons 7 cups
64 Solve using a number line
() Y ) (d)
—4 -3 = ~11+6= -2-3-1= 0+5—7=
ll ~5 -G -2
(o)
e S e S T T S I S S S M W S
—ﬁm—4—3—2—1 o 1 2 3 4 5 568 7 OsS 9 1011
() " _
K
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65

lo)- b) .c)
- 256 - 524 897
* 0,03 | 20,844 | 2 0%
el TREREL | e 0 179. 4
d) ‘ e) . rej .
| 3154 .| ...1009 7095
* 0,02 * 0603 # Oe?2
63.08 1\30027 /nLL*"iQoO
56 |Find'tha differenca of the folwing numbers |- ' ‘
23.12 — 4.562 5.017 — 2.572 1111 — 9.9
I 1”2 1o  q N o 1
SERR TN 5 .8 N7 TR Y
— L4 .56 2 —-2.57 2 == 90
| 8.558% 2.445 '1.'2'1
18.558 2.445 1.2.1
i (a) (o) 12
4x + 6y 1x + 3y 2a 13D
+ 10x — y |+ 9x — y |+ 1a-— 2 b
[ bbkae + Oy 102 +24 2a + b

Hint [:j = 1j]

Ry @)
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Sum(all angles) of a A = {80°

o) ) ©
63 |
P §+Tem S Py > , b
— -
o
g e |8 R g7 Vo
O PERS 15 Red‘"ﬁ" 0ABCLD isa ParangLoElmm
® | j Adjacept
" 6 — o
Lc= (30 QR = E.Cm A A =110 angles are
Sy nPIQM1-nbj
69 Write-down all the factors of J
50 72
{12 |5 - | - {1213 4| 6|8
50 | 25|10 -~ | |[72 |36 [24-|18-|12 | 9
70 Find Mode, Range and Median
33, 45, 40, 23, 42, 32, 33
ange = 2‘L
Ascendinj Ovdey RS e
23,32 33, 33, 40 , 42, |Medan=__33
/ / ’ /
K . I+S Mode = ___3_—;3______
Range = 45—-23
71 How many seconds
o || 7 Minutes dxed = 540 Seconds .
] 2 MinRes EX60 = 300 Seconds-
c) || 10 minutes lOX60 = GO0 Seconds

P @2)
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72 Find the distance between the centers of the two circles T
Radii of the two circles are 14 cm Diameters of the two circles are 12
and 18 cm cm and 17 cm | ‘
18+14 8.5+6
' - 32 cm = {4.5cm
73 A family bought 2 and a quarter liter of milk each day. How much mi!k did they
get in the month of v
s ok
January’ 3] dQ}jS June 30 dO.:jS
Milk = 2,25X31 likers |
% 31 - 2sdS
6415 61.50
| 69.75 liters "¢67.50 liters |
74 Find the width of a rectangle if
Perimeter = 50 cm Perimeter = 9.6 cm
Length = 20 cm ol Length=3.7cm W
i y A ° —1 30-’+3‘-’
50 = 204204 WTW 9.6 “+ W+ W
50 = 40+ 2W Qe = To4+2W
W= 5ctm w= .1 cm
(75 | seventy thousand - twenty two thousand one hundred fifty five +
)
five hundred and seven tens = L4 8 g 416 9000
10y V8 5 o ‘!7/245 s S +82.170
e 15 70 TR
22,155 T 20 a| 170
Nine thousand + eighty two thousand one hundred seventy— — 505
o)
five hundred and five ones = [
q0, 665
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76 Write down all the 2 digit prime numbers
11 13 |7 19 o 1 <4 = |
37 4\ 43 47 | 53 59 | 61
&'t 71 el 79 83 89 97
77 What is the perimeter of an equilateral triangle if its each side is
1.28 cm 1.09 cm
"By 1.09
L= ¥ 3
3.8 Y4 3:27
3.84 cm 3.27 cm
78 Fill in the blanks
g - 3/
a) The place value.of 310724 1535 = 1000
' 5
b) The place value of 5 in 72| 5 3.is = _n__/_i__O__Q_
¢) The place value of 7 in 72|53 is = ____7__9 _____
d) 1ton=_2000 pound
I° S 14-2+3 = |5
14 2, 3 2/ 8 g
e) g st 8 =
f) Two- thirds of 60 is ___ 40 %X 60 = 2X 20
g) one foot = __I_%___ inches
h) Three feet = ___3___6____ inches
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79 Convert into meters ( Hint: 1 kilometer = 1000 meters)
3 kilometers 4.25 kilometers
3000 m 4250 m
2.5 kilometers 7.85 kilometers ’
2500 m 1850 m P
80 Name and draw the three different Name and draw any three differeht
types of triangles based on the lengths types of Quadrilaterals -
of their sides Tso SCe,lCS ‘Trquzoid
Scalene & 4 “'L Rhombus <R
Tsosceleg A
et & farallelogrom L‘Z;*J
Equilateral A : &
= lateral Rectangle. [ 1
| Square -E}
81 Prime Factorize: 90 Find the Volume of a box if
I: length is 3em
/\ w: width is 4cm
g {0 h: height is 4cm
P N
Gx ®@ Bx®
Volume
= LXW XH
= UYL
Qo = 2ABABHRS Volume :_él;_S___ cubic cm
81b| {424+3+ 4+5+6+ T
= +22 +33+44+55+66+TT— |1
|0420+30F 40+ 60 +70 = 80+80+770 +50
+ 90 = 230+ 50
PO J
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82 Multiply Multiply
2075 3,278
* 83 * 53
6 2 2 5 qQ 8 3 4
+16 6 0 00 le 3 900
T2 225 173,734
{72, 225 {73,734
83 '
0| 3-897 = 10 = 3g q7 42522 +10= , o o,
b) 3.897 % 100 = 389, f|| 4252.2 + 100 = —_n
C) 3.897 %1000 = 3 8q7 3) 4252.2 + 1000 =4 25219
d) 356.7 = 10 = 3567 h/‘ 4252.2 +~ 10 = 425.2 92
84 Draw stem and leaf graph for
45 43 43 52 54 65 55 56 48 58 45 50
Stem Leaf
4 2,383,858 5, 8
5 0, 2,4,5, ¢, 8
G 5
85 __W'hajt‘probabflity? _
ol i A number is choésen at A nrumberr is choosen at 1_'_
random from 30 to 50. What random from 15 to 30, e
is the probability that it will 5 What is the probability that le
be divisible by 4 'z_l' it will be a prime number? = 1
32,36 40,44, 48 17, 19,23, 29 g
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What are the next three numbers in

Find the perimeter of the Regular Pentagon

the pattern:

86
if each side is 1.8 cm
PEHMERY =1.8 72, 36, 18, q , 4.5, 2:25
X'5
L ]
Q.0 Rule = = 2

87 What is the difference of the two missing | Andy is counting backwards by threes.
The first number he says is 80. What is

the sixth number Andy will say?

terms of this sequence:

5‘6677788

Difference = 8 -8

T | T | I |

|
|

8o (17 | 74 T

o) 65
28 Complete fhe seguence
Rule : +1, +2, +3 .... .
)|\~ 18 19 21 | 24 28 | 33 | 39
Rule = — 40
bl 900 860 820 780|740 |00
89 Wilson’s mom gave him $100 to buy his soccer supplies. He spent $ 45.09 on soccer
shoes, 5 24.50 on a ball and $ 16.75 on his clothes. How much money, in dollars, is
left after his shopping? + 1
Le Over 00 .00
ball. =" $ 24.50 £13 - 66
Clothes = $' 16 .75
Surm & 86.34 $ 13.66 -

R&D .
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90 Solve
12.177 + 0.4 39.08 — 16.198 14.098 + 2.78
' g8 9 17 1 |
124714
X 4 35{'25;2‘: 14 .09 8
- .-
487 08 b w0
| 22.58 2 16 . 878
4.8708 22..88 2 6 .878
- 4%y 2030
a) The smallest counting number is 1 2~
b) 9 pints make 18 cups L
- 4J194q0
c) 10 pints make __2;_0_ ______ cups - 16
. “ | 39
4] Was ths yesr 1990 @ lesp year? _ INO - 3630
e) Will the year 2030 be a leap year? __ No _ 2.
f) A triangle with no sides equal is called Sca\ene__Triangle.
g) The smallest 4 digit number formed be using the digits 6, 9, 0, 2only
onhce is 2'10 Gq_
92 What is the perimeter of a regular heptagon with side length of threé and half

centimeters?

2.5
i
24.5cem

Heptagen has 77 sides

2“" -5 M

Hint -,-Hcpbason

1S a. quadnlatral with Seven

Sides
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93
12, 10, 9, 2, 10, 5, 7, 10, 8, 12, 3
Ascendin g Ordev Range = ___1,9_#
-2; 3, 5 / 7: 8 1@ J -I Nlé.dian = __3_____‘_‘
12
10, 10, 10/19_, i
Mode=___ ' M . _
Rangg = 42—~2 =10
94 State if congruent / similar
13) () (C)
e ) ( ~
Congruent Yes Congruent l No | Congruent Yes /
Similar Yes / Similar / No | Similar / No
95 A grandmother distributed $ 132 among Anna, Michael and Drew equally. How
much mon&y does each one get?
3)I32
Rl T
12
| l
S | B Gb
96 A grandmother distributed $ 1000 among 5 children. How much money will
each child get? ; 200
5 )looo
— 10
(@]e) ‘ 4
-0
ag . & 200 \
T :
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Q7 | What is the circumference of a What is the circumference of a circle of
circle of radius 10 cm? radius 5 cm?
Cirucumference = m»* diameter Cirucumference = m+* diameter
D tameler=20(m
= 5
= 10T cm
20T cm 0T cm
qg If the space station is 54,300 miles What is the units or ones place of 165
from the earth, how long, in hours, |times 143
would it take to get there if you 1 © %D
travel at 300 miles per hour? >..<__i_l_'_l"___.
Yl_ﬂ 5
3d9) Suapy = 3)543 . o
o o -__é_q_ The units place d‘ﬁ‘i-
=33 1s S
|8 | HourSJ
qq What are the missing numbers in Write down the decimal equivalent to the
the pattern: given fraction
2510, 2520, ____, ____, 2550 Fraction Equivalent Decimal
Rule = —+10 703 _
M.ss:nﬁ HHs 58 |
10 5.8
’ 7
2530 , 2540 10 0.7
{00 | Maria has 6 boxes that each can hold 45 books. She has 10shelves of books that

she needs to pack in boxes. Each shelf holds 32 books. How many books will fit

in 6 boxes? How many books will be left over? . 320
Number (books | ¢ boxes can hold —%

on the ShelF) L[-SX G

" 2 B
2‘%)2(.63 books | =70 books

50 books lef+ over

P @

ﬁ 30 Anagha Chaliparambil - anaghasmath.com Level 4 Review - Summer packet




Diomeler= 2A Radwus

Find the Diameter of a circle if Radius is

104 Rahul has 19 quarters, 8 nickels and
22 dimes. How much money does he -
have in all in dollars? Radius Diameter
- X0.25 g
\Q quartkys = 19X0:
qcl’ ~$’+-75' 5.8m 11+ & m
] Nickels = 8%0.05
040 4.05 m a4
22.dimes = $ 2.20 .10 mw
13.03 m
$7.35 | B 26.06 m |
lo2 | Answoey
a) 21+21+21=41+41 + 41— 7122
204+ 20+ 20 GO
11+22-33+44=1+2-3+4+ 21N
) U4-0.
jo+20+~30 +40
50 + 200 + 150 =???2% 50 '
c) e
S50 +200+150= 400
103 : : ‘ Linda has 59 hair clips. She gave 11 of
Wh'c'h PrOdu.Ct' s .*Odd them to her sister Lina and then
— units plact| yisirubed the rest among 5 of her
o) nx4a9 q friends equally. What is the most
_ number of hair clips each friend will
by 44%33 2. get? )_j
) sq 5748
— 45
c) 55x2 2 g =11 3~ Each frend
dy 88%66 48 has y
{1 X qq 9 clips
o4 | If the radius of a circle is 45 cm, If the radius of a circle is 16 cm, what is
what is the diameter of the circle? the diameter of the circle?
43 16
K2 _1(_
90
l 90. ¢m ) LSQ_ cm l

Py (3D

| 31 Anagha Chaliparambil - anaghasmath.com Level 4 Review - Summer packet




1) 2 If the diametelf of a cirt;i;‘e |;s 45 cm, | If the diameter of a circle is 16 cm, what
what is the radius of the circle? is the radius of the circle?
2)45 =22.5 |6 =2.
=4
5
—d_ (O
20.:5 cm 8 Cm
106 How many feet?
One yard = 2.5 yards =
| 3 feet 2.5x 3 7-5 feet
5 yards = ~ 3.1 yards = i
15 feet 3.1x3 q.3 feet .
107 |24 hours equals how many ' o 2
minutes? What is the value of = 0f4-?6?
S
24 ' )
X 60 2 x40 S_EO
O o 2, e T 20
| &4 4 = 80 -~ 30
= ' O
|44 © 5.
“'l“'l‘o minuke) 16 ‘ _
108 |Express as mixed fractions You start at (3, 2) and go 5 spaces to the
right and 2 spaces up. Which point do
16 , _L. yo,li reach?
a@) 5 35 (3/2-) | et 1
+5  +2
b) —6— 3 ._j_.. You start at (0, 4) and go 5 space to the
G right and 2 spaces up. Which point do
: you reach?
22 | 2. | - S ' '
o 5| 2828|300 [ ]
- - T3 = )

P32)
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104

3
What is the value of I Of 187

What is the ratio of the days in April
2016 to that in February 20177

: 10 it b
o |l - Feb
3 w18 554 | Apd T R
R 7™ | ~ 50 2016 7
= 54 4 |= 30 : 29
li.-
'13.5 30:28
{10 Which fraction tell you how many dots are shaded
i
11 | What is the smallest three digit Ten years ago, Rar:dy's age was 20 years.
number divisible by both 5 and 3? | What will be his ag? 13 years from now?
Divisible b~\—‘L 5 and 3 andﬂs ag<
= Divisible by =) - %"g‘ ' 20 years
(Rt = 10 Today | 30 years
I5x7 = 105
I3 years 30+13
later
{05 - | 43 years
2. | What is the smallest three digit Amanda is three times as old has Anna

number divisible by both 2 and 3?
Divisible loj 2 and 3

= Divisible by G
le IOO-
6 ?_1600 -2
s 102-
- 26
4

102.

now. What was Amanda’s age 2 years
ago i¥ Anna is 1B years old now?

Amanda Anna \
113%3=39| 13 Now
39-2. 13-2. 23‘“'5
290
37 years

33 Anagha Chaliparambil — anaghasmath.com Level 4 Review@"lmer packet
@ a3




(13 |Find the first two common multiples | Find the first two common multiples of 4
of 2and5 and 3
Common mu\h‘P\fS of Common mulhples °F 4
i and = ‘ Onol_ 3
are {o and 2.0 are mulh"‘;\igs oF 5
10 and 20 12 ad 24
Y- How many three digit numbers are How many two digit numbers are there in-
there in all? *- qq q all? LQ!’S e qq
Lor fi‘s : = 00 4 mallest = 10
Smallest = aq —10 + 1
qQqq — 100 + 1 —
= ¥
=8499+1
q00 90
ns What is the area of a square box What is the perimeter of a triangular
with each side 30 cm? chocolate box with each side 40.9 cm?
Avea = Sidexs\‘dc. e
30 40.9 .
¥ 30 ._X_?i_
900 sqem 122..7 em
[I6 | Are the following numbers or words palindromes (YES / NO)? :
Q) DAD Yﬁ'és e) 239,089 No
) RAIN il 0 43,543 No
0| TOPPOT | ves g “aesh Yes
4| VANE . 5 101

Yes
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(Use  humber line if neCessa‘(j)

0

i
N

N7=6= | .1 D +4 =

]|
z
'S

|
N
l
N

EP 6+5
c) 1+6

I
-
=
»
+
w
] i
g

a)|-8+6 = —2. j g+2

3=H= | =9 ¢ 1=8="1=T

L.

) -3+1 = —Z ) B9 = -3

118 | A number is chosen at random from | A number is chosen at random from 1-20.
1-30. What is the probability of What is the probability of selecting a
selecting a number having a ten’s number less than 157

lace digit 47?
Bt s 0 Less than |5 (L
Theet I8 O 30 = {+b ¢ 20 o
tens Pplace djd' = \Ytk's -
4 between | =0 || ko)
1-30 = ' L=

nq |A number is chosen at random.from | A number is chosen at random from 1- 20.
1-25. What is the probability of What is the probabllttv of selecting an
selecting a multiple of 5 even number? 1o
Muinples of 5 .3575 or ||2,4,6,8-.-.20 DO v

_
5,10, 15, 20, 1 —J—-”Z.
25 S |
120 | Anna is 9 years old. Her grandfather is 7 times Anna’s age. How old is Anna’s
grandfa.t_her?
Grand father = 1X9
=. 63 - 63 years
Vi - 2 N " __? ==
- . ] .' | v L] L] | ) v
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2) | Tony’s aunt is 36 years old. Tony is 4 7 , o
l one-fourth herrage. How old is SEIIREre 5 to 9 ¢ Which one js
Tony? |-greater mhj?
.;\_.‘_ x 36 4 )36 Make +he frachons ec[,uwa\ch
— 36 |
= 36 5 5x9 % 45
. _ =
% 'Ton_c]: IS 2 = I*5 = &5
3 . 9%5 L'L qrqu-r
9 Year S : 5 '
122. | Solve: 36 +8 +2 -4 .
usin3 PEMDAS %00 x 11.3 : 1:175:3
26+ 4 —4 22 ¢
=3 40— Y- 22600
= 36
36 260
123 | Three friends want to be at the front of a line to buy a new game console at
' Superstore. How many dlfferent ways could the three friends line up in front of
the store? et +he ‘3 fends be A, B, C
different way s
AIBfC BIAIC C,A,B
A,c,8 | B8,¢, A .8, A 6 ways
\2Y | What is the approximate cost of What change will you get back if you
taking a 400 mile trip if you get 25 purchase 7 bananas at $0.15 each, two
miles per gallon of gas and the gas package of gum for $0.75, and bottled
costs $1.60 per gallon? water for $1.10 if you gave the cashier $
16 $16 10. '
55’-\‘-00 X1.40 7X0-15 = g 4.05
- 25 bl b ol ‘ o A
o £25.60 2 %0.75 $ .50
- |50 I 110 = $ 1. 10
= Sum = fF 3.65
Chan e =
. 60 10-00 i3
$ 25 3. 65 | 635
, —$ 6:3S Pq B6)
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{25 | What is the name that describes all |If the perimeter of a rectangle is 16 units
four-sided figures that have and the area is 16 sq. units, What could
opposite sides parallel? be the dimensions of the rectangle (in

g5 i units)? , .
r/d .
ﬁ :. 7 Pevimeter = 4X side
: 16 = 4 (S‘\d £ )
Areq = (side))((S ide)
‘Sde
' =(Sids)(5id :
Farallelogram 16 =(Sids)(S14) = L units
|26 | How many centimeters A mile is 5,280 feet.. How many inches are
v z in a mile?
eters entimeters ' " -
s I-Foo_-l- =-12 inches
13 m ‘ :
1200 cm 5280
8 m Q0 %< 12
; O om
e . 105 60
H 900 ¢m |+52 8 00
13.89 m - ;
63 360 .
1389 com / 63,360 inchey|

I27 | What is the volume of a rectangular prism with length 5 cm, width 4 ¢m and

height 10 cm I ; :
Volume g
= Bxi4 x40 200" vt <

128 Find the value for the expression: How many meters
32 i
= + (16-4)*3 - 6 Kilometers | Meters

13 km
. 13,000 m
8 + 12%X3 + 6 8 km
8,000 m
- P D e 9 km . .
= 8+ 2 : q’ 000 B2y
110 km ' :

\Us'ma PEMDAS (do division first)

()
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29 A contest began at noon one day How many numbers from So-80 have a

and ended 100" minutes later. At figure ‘7" in them?
what time did the contest end?
50-59| |
60 12? ‘ 3 60- 69 1
4.0 Jo-80 | 10
{ Hour
40 min 12 Numbers
120 | What is the perimeter of the shown | A contest began at noon one day and
polygon? e ended 840 minutes later. At what time did
T the contest end?
10 e L |4 HourS
| I 60 )840
i - 60 ; L NDES T
0+ 2+ 4+ Lo+ 6 s 14 Hours
: . - 240
= 20+12 o
3 | 2100 AM
|31 |Jane needs 51 cents to buy a chocolate bar, while Steve needs 45 cents to buy
it. Together they can buy one chocolate par with 2 cents remaining. How much
money do Finey have ~ et
514+ 454+2 Cents
= 51 +47 Cents 98 Cents
132.

1
Two different circles overlap. The area of the overlapping region is — of the area

1
of the smaller circle and is -6—of the ‘the area of the larger circle »

, " .. What is the ratio of the area of the smaller circle to
the larger circle?

D) 2:¢
| ¢

= 23

{:3

@
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1)

Multiply

19 3 2

G 6| [96 0

b)

Solve

R means Hyrmep

(30+11) — (6 *5)
\P

(30 -11)-(6 +5)
S~

4t — 30 1q-11 -
e 11 G 4 T
§2&5)+3-.+(2*5) x _(41\(]_:8)—3+_(;2*5)
T Fa3irio L 5-3+10 .

/7 +l0 117 2+10 | 2. l
(6+8)—3+ (63+7) ' (1_3_-—)4)+35—'(10+2) o
- 14-3+9. | _|=12.+3 ~5.
= |1+9 . 2.0 = |5=-F JO
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4) Divide ‘
7) 24 G) 45 q) 73
- 2 | ~42 Y
3 3
a= 3 R=3 |a= ] R=3 |a= & R= |
5) Divide
4 0 B -] 8
2) 80 3) &9 h) 74
-84 -6 _4 |
oo 0.9 ey
o o =32
lQ‘=l /+O R=Q|a= 2 ° R= (0O |a= ]8 R= 2
6) | Multiply , | 3 g Y :
2 4 3 1 3 9 7 4 3
Pal Ly- X q X 2
|8 Fo% o4 ZE 5 |4+ 8 6
"Il 51| 51 | €3] ¢3| 78 | 42
x 6 |x 1 |[¥12 =12 X 0 | X O
e 5| 18 | &1 o . -0
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